Z00M&)L— L3 5 —

A7 —LEERE
COEFEEFBEVLTFEEHYMNESI ZESVET,

CDT7—LFXR—=—LIVO=FY o TEIL—LIS— (BLTIHIL

WN—LZIS5—AIL—L) ZMEL—LSS—BECEETIENTT,

MEDI—LIS—ICFEBFERFFADTITEECE S,

OM

ENGINEERING

1, L—LZS5—IZ/T—LE%E
Bt BERIE, 7—LEEEL
ES5—ZAICELRLA#HFET,
(K= S—HEFHER LARME >
TWBEEHER)

2, 7—LZEEEL. M5F v kZE8mD
ANFTHIZEILEELFET,

31, W—LIS—DEERE
(Ao ML—L25—

Lst)

2.5mmDARAL U FEERL

HOs5—HERBR L EAHE

IZBIZEILIEH CHET,

/PN

DMy b E
8nmdD R/ FTHIZE L
ayy L&D,

(B4t LIZF D]

Aattention Disassembly
DEEZELE prohibited

SS—HERBER LRGN SLNT
KEEV, AT EFY BRI TAhES
—ZELHVERICREEE A,
IR OIS —HERBRLE

B 3HHEETE OEERLE 2ib)
FFDEFTLTHER—ALD AU

(ET—HEHRERQL

BITRITER A,
CCARERARA-LIVCZTIVY
ABBEVEHDET LY,

32,20\ FL—LIS—OHERE (ERARA)
2mDAAL U FEFERALARO—tEy FEAICELFEOHAHFET,

=2
BEAT—L

CoRA—ty FERH, R—LPa D
FHAICAEL. BRADKET
2mDRE L FEERLARKOLET,

M5 b

EEZH?;-WZ—AEH -
SY A RIEIS—AthE LTSS LR
B ATRE T TSRl
(BIFERE, 7ARA U Mot &Y E
FTH. WA ZEN5F v - % 3EER
BEZDDIEL—TEDHIIVTIY
Z AN SET £ & ICER AV AE
HE v MISEGEUEES LT
(EEN, BHTELEIS—L
F—LOEFEBRENH < i Y BiE.
BN B TEMENHY £,

5=

RF4. Dafv b

& T —RERSTHIESH
TFILIHEIVH L B3R : 1250R
BREAHX—L T =715 T4 MEES
TEL 046-320-8815 N
EEPRE

HP  https://zoom-eng.com/
e-mail zoom@zoom-eng.com

- FEEBHERICEESATNENE,

ETRL—LIFT—AEEEE. AR
AENDEREUNEY ETOT, EITH
ICEERBLTFSL,

Instruction the arm for the
Z00M ENGINEERING rearview mirror

ENGINEERING

Thank you for your purchase

This arm is for attaching a Zoom Engineering rearview mirror

(including digital rearview mirror frames) to the original rearview mirror base.
Please note that it cannot be attached to an original rearview mirror.

1. When installing each arm on
the rearview mirror,

fix the arm and turn the mirror
to the right and screw it in
(*Make sure the mirror adjustment
screw is tightened.)

2. Fix the arm and turn the M5 nut
to the right with an 8mm wrench

to secure it

3_1. Adjusting the mirror position
(Except for compact mirrors)

Use a 2.5mm hex wrench

Turn the mirror position adjustment
screws shown in the picture evenly
to the right to tighten them

Enlarged
diagram

Turn this M5 nut to
the right with an 8mm
wrench to lock it
[Reverse to remove]

\attention:

moderation adjustment
(Mirror adjustment screw

*Adjust to the
appropriate firmness

o

Disassembly prohibited

Do not remove the mirror adjustment screw
under any circumstances. If you do, the
nut will come off and you will have to
break the mirror to return it to its
original position. Caution: Do not

loosen the mirror adjustment screw too
much (more than 5 turns prohibited)

The ball joint will not come out even

if you remove the screw. If you have any
questions, please contact

Ball jojny

9~

Zoom Engineering

3_2. Compact Rearview Mirror Adjustment (How to Use)

Use a 2mm hex wrench to tighten the screw by turning it clockwise

Roof
Fixing arm

(Mirror is attached
to the roof)

Windshield
Fixing arm
(mirror is attached
Windshield)

Loosen this screw, adjust the ball joint in
each direction, and then use a 2mm hex wrench
to tighten it when it is at the desired position

Side view

N

M5 Nut

Can be installed in the original
rearview mirror mounting position
with a dedicated arm for each vehicle model

The S size mirror can be installed
upside down. (It depends on the
vehicle model and eye point, but
the M size can also be installed
upside down by loosening the M5 nut
about 3 turns to create clearance
with the roof.)
Caution: Do not loosen the nut more
than 3 turns. If it is loosened too
much, the fixing strength between
the mirror and the arm will be
weakened, and it may fall off
or cause vibration

Zoom Engineering Co., Ltd.
TEL 046-320-8815

HP  https://zoom-eng.com/
e-mail zoom@zoom-eng.com

Mirror Blue surface
reflective curved
with anodized finish mirror Curvature:
1250R

Body and joints:
Machined aluminum

ACaution: If each part is not
securely fixed, the rearview mirror
may fall off or become misaligned
while driving, so please check again
before driving.




